
VIEWPOINT

The federal deficit is rising, far beyond 
the $10 billion projected in the Liberal 
platform. The 2016-2017 budget fixed it 
at $29.4 billion, and it is expected that 
the November 1st budget update will 
raise it again substantially. The stated 
purpose is to stimulate the Canadian 
economy, whose prospects for growth 
are deteriorating.1

It is widely repeated that now is a good 
time to borrow since interest rates are 
very low. Those who use this argument 
to justify borrowing forget that interest 
charges are not the only cost associated 
with deficits. This Viewpoint presents 
five alternative ways of thinking about 
the cost of deficits and infrastructure 
spending.

1. FUTURE INTEREST RATES
Public debts are rarely reimbursed. A sub-
stantial portion must be refinanced each 
year at the new interest rates. This year, for 
example, the government will not just bor-
row the equivalent of its deficit, but a total 
of $278 billion.2

When thinking about the cost of borrowing, 
one must therefore take into account not 
only current interest rates, but also future 
interest rates. There is no guarantee that 
they will stay at this extremely low level for 
very long, and a sudden hike could raise 
public debt charges.

2. THE COST OF TAXES
Public debt charges represent $25.7 billion 
this year, or 8.7% of the federal government’s 

budget.3 Figure 1 projects the evolution of these 
charges up until 2020-2021. Even when interest 
rates are low and capital is not reimbursed, these 
charges must be paid with taxes.

These taxes have an adverse effect on the economy 
since they create distortions in the private sector, 
reduce purchasing power, and discourage product-
ive activities. This is what is referred to as the dead-
weight loss of taxation, which is to say that beyond 
a certain level, tax increases entail a loss of eco-
nomic well-being that outweighs the increase in 
well-being financed by the government’s additional 
revenues.

Recent studies vary, estimating that each dollar of 
taxes collected costs society more than $1.10, and 

OCTOBER 2016

DO LOW INTEREST RATES  
JUSTIFY DEEPER DEFICITS?
By Mathieu Bédard

TAXATION SERIES

2014-2
015

*Projections 

2015-2
016*

2016-2
017*

2017-2
018*

2018-2
019*

B
ill

io
ns

 o
f d

ol
la

rs

2019-2
020*

2020-2
021*

40

30

20

10

35

25

15

5

0

Figure 1

Public debt charges

 
Note: These figures are likely to be revised upward by the November 1st budget update. 
Source: Government of Canada, 2016 Budget, Annex 1 - Details of Economic and Fiscal 
Projections, Table A1.2: Summary Statement of Transactions.
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up to $5.00 in certain cases.4 Since the 
weight of taxation must be added to public 
debt charges, public debt ends up being 
quite expensive, even when interest rates 
are very low.

3. THE COST OF INFRASTRUCTURE 
MAINTENANCE
Those who are calling for massive invest-
ments in new infrastructure often forget to 
specify that once this infrastructure is built, 
it must be maintained. According to a 
House of Commons report, “a significant 
and predictable proportion—up to 80% for 
some projects—of the overall costs over the 
life cycle of an infrastructure project is O&M 
[i.e., operations and maintenance].”5

4. THE OPPORTUNITY COST6

When certain resources in a society are re-
directed toward government projects, this 
necessarily means that fewer resources are 
available for private investments. This is re-
ferred to as the opportunity cost: that which 
must be forgone so that this spending can 
occur.

In order to quantify the opportunity cost of 
this infrastructure spending, we use the 
average rate of return on capital, which 
indicates the profitability of private projects. 
In Canada, the average over the past 15 
years is 7.1%.7

In order to be valid as a measure of the cost 
of government borrowing, this opportunity 
cost must also take into account the invest-
ment’s associated risk, as well as its irrevers-
ibility. Indeed, contrary to many private 
investments, what the government owns 
generally cannot be resold.

It can be estimated that these factors push 
the opportunity cost of government spend-
ing on infrastructure to around 10% even if 
interest rates are zero. This is a very prudent 
estimate.8
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5. MORE EXPENSIVE PUBLIC SECTOR PENSIONS
Low interest rates also have the effect of making the 
performance objectives of public sector pension 
programs more difficult to attain. A recent analysis 
based on data from the Finance Department notes 
that currently low interest rates entail additional 
costs of $3 billion a year, erasing a large part of the 
savings registered by the government thanks to 
lower public debt charges.9 With such increases in 
pension plan liabilities, the government is already 
further in debt, before even borrowing an extra dime.

CONCLUSION
All of these arguments challenge the popular belief 
that when interest rates are low, the government 
should take advantage of the opportunity to bor-
row. There is a crucial distinction that must be 
understood between the interest rate at which the 
government borrows and the cost for society as a 
whole. As Ottawa prepares to depart even more 
drastically from its initial projections in its budget 
update, it should be remembered that money does 
not grow on trees, even for the government.


